2@ ol DIHMY
ANE2dgSs 2023sHE 7,868 =4 AHH| d=/Ey: gasad
2 & 22023 07. 01

# J|E SYY (T : 754.3kcal, L A13.660014, Z5240.64mg0l4, EE 3.75mgoly)
|

79 32 79 42 79 52 79 62 78 72
B0 %1210+ 2 8H(1.5.6.15) =0/ 2E28H(5.6.16) ea8g=a(s)
A12|01¥=(5.6.9.16) [AA(1.2.5.6.9.15.16.18) CEZSY2 /2= 2hE(5.6) Z3#0/="=2(5.6.9.16)
S=x2(5.6.15.18) X BUS2(5.6.9) (2.5.6.9.15.16.18) oo SO2YE/HNE(1.2.5.6
- © SHEENIN(5.6.9)
SYNS2E(5.6) BEYN DRAOIXIZETA/AA > 10.12.16)
s EETIEE S by _
=27(9) (1.2.5.6.10.12.15.16) (2.5.6.10.12.13) 22217/(5.6.9)
Ay Q012(5.6.9) SEHRRS(5.6) (2.5.6.16) Azl D ap s
(1.2.5.6.10) DELYFA B =24 X1 (9) HH =24 X1 (9)/ Rt == (1.2.5.6.12)

72 102 78 11 78 129 78 132 78 142
PPN o= (9)/=Ctal(15) SIESE, SEAT(5) 2ot
ADII9=(5.6.9.16) DAY SHE(1.5.6.9.16) SHAWINR(5.6.9) | HSBED(1.2.5.6.9.1
USAELS L X 5 Z270/(5.6) X X BHEAH| 0| /A A Qatz Y| 0.15.16.17)
(2.5.6.10.16) Q0|44 1 (5.6) (2.5.6.10.12.16) (5.6.9.10.17) SHEDIIBE

HEMARS(5.6) B 22 24 X1 (9) ZUHE2E(5.6) A2 XIZ2IEH1.2.5.6.9) (2.5.6.10.16)
2E|(9)/ QI K| EA &Pt (Z0HE) 257|(9) HH =21 X1 (9) BHS 2 XI(Q)/2H 2D (2)
78 (7Y 88 17 8= 18
Z BBt EpwaT
U2ADI|R(5.6.9.15) | FEXAXFIMNG5.6.9)
— L SHXIZHIE(5.6.10) | XIRHIEEX21(2.5.6.1
s QO|HA A (5.6) 0.15.16.18)
=22%(9) 2 MR S(1.5.6)
Ol JEt2E(1.2.5.6) AMelES(5)
8s 21y 88 202 88 232 88 242 88 259
TEEET]
2ttt s 0lg JEd
=0|g ot 2 X2 (5.6.9.10) . anes (1.5.6.10.12.15.16.18)
AT EER(5.6.9) =BTSNS B2SHM =T 8t20/22(5.6.9.18)
SIS E(5.6.15) SRRI2IDA/ AL (2.5.6.9.10.12.16) (1.2.5.6.9.10.15.16) I
s (1.2.5.6.15) A XIGI2I 0k 70l ESDEXRS(5.6.10) =
2 (5) i e ) (1.2.5.6.10.12)
2519 CRAXI2E(5.6) SEM(5.6) S30IL2IRE(5.6) cor e
=X H8%)(9) z=c39 HH =20 X1 (9) srove
ZMA(220H(2.11)
88 28Y 88 292 88 302 8s 31
EB A TENS) QEAAATHE
SIHE(1.5.6.9.15) (1.5.6.10.12.16) ] B0lg
= XA
WREDIIHSHE(1.5.6 &0/ IYAT SEI2(1.5.6.9) 3*;’;@5525;-6-9)
.10.15.16) (2.5.6.15.16) XX SH2HI(1.5.6.15) I85(5.6)
2D E (5.6) SNSSA/EIZE2AA | SXILHRE(1.2.5.9) $2g5$;§(5 6
tH =2 X1(9) (1.5.6.9.10.16) HH =2 X1(9) HH =21 X1 (9)
22| AH6) 2EIE/ZII2R(2)
*x S2/5tD 240 AIRES AR |MXALICH
22|07, _ _
EPiinE] oE o 21 CH2HOf 2151
= b ANSIIRE DS =np Ag -
& o S0, g2 sa;m!; cng | 3B L ESTE nE0=2
_ U B e 21 AlOF oar | =
A ezo) | gszoa) Sud soipr [MESE son | meg) Sud
*x SIDAEDN SISO Mo AS0| BHE 4 UCH 9 Alco] HOHEAIS AISSuSsD SHOIX-SANABOIA =0Ista
2~ USLICH SHOIX-YSMTAT 20| U236 ZAID| SSCALCH
*x 20= =62, BDR, SM42 S2 A8Y ¥ GOIT HMEC=2 Z2wd s
* AICH 2H8H SOIAEIS HAUAIAIR 2OHILICH(2AIA:070-7097-0379)
(=)

*x 2g2)| R AS
DR, @2R, O, @E3, OUSF, ®Z, @USH, ®H, OM*, OHXIDI|, H=S0H, RE0E, BOtEMR, BSF,
Jl, ®A107], @ S2 2 2I| RLASH S sS4 20l= 3 E= JlE BIIHA @2 AS0x

d20| SdE 20I= SdS2 SA Al 2488 Fo8 FHEEELICH

kJ
g




mmuﬁ_m
20 30 .
“_A...._“_A.._W
K0 o0 &
—Im_qom T m = |_|. _
|2 .l . w Wm_*moM._.r_a&_
— Kl g i g e I K0 Tl
o__m_o___ X . i LuAﬂ_w_ur._nﬂ_'
s o 00 SN &l =
i @ _._.__u . ] 0 .___.=_.___|_./Wom o M_W/A
ol N 3 T oy OF 0% = D > )
Klo e ] = O gy 0 7 2% o«
i ﬂiom? %0 B e~ =
3 = B = . ....__Aln_
= Rl 06 S FIEL ||k A iy
T ______= A_|O|_._|mﬂ il K _An_ ) _._A_.._*.__._
<r = ooy M T |
< oH Tz AL | ol
50 fozlsm @ i%
—_ O - o n > i =
30 AT Kdn® oy o QT N ol
DES = T AT~ U R oo of ujo 1
olﬁ: ™ R R L.M_AIWULI ﬁr.. of = K o t KF X~
o .%,_u_e E_S__umxoéw __=_ ,5 W b @ 7 =7
A “p 58It ol 4 o/ 2u oo MO —
< 1S Lo K Ao T . r
N~ u F TR » 8 T
_l_l_ E% P/ﬂ ol
- o <
™| = W3 0
v 47 ¥rELTom
or < o I & & 10 .
() il - _AOI—_l 7L| m._lo_n_l _._._._ Mﬂ D._Loﬂ 1 -
S S prBMTE o E) K@ oM gz
~ <K %5W1Pﬂw§5 ) =) m__ =g o .
a Ul uﬁﬁwAeEg o X T o & RE _Eod
© 1 K = - i H uo @r _m_ 0 N ol ol for r S 4 A T
E grox < Hoo%o__ﬂ@waoo_e Hwswd 4T = mma H_maw_wzm..
.ru_ <0 5 — w_n4%w|x|ﬂﬁ:_aao in ol = o 80 Kl I - _ O Ko T
ol mo M A< YT Mo o go I M e o & = o1
oy = W L i W o S = 0 %0 W i S 2
Ko an Mm.n_l.e._,w% { oz B R W wo | 5T b ol s K H = < I o R
=0 ol ~ TMHE T E o A or K% T 5., o
__o = o R ol %Y @ = wl S o KX N i o g5 omees
ol SiemT , dr®s g W R =5 HOF_-s=
o___¢o = :_._mfAlo .A___Qm.oL Uk 10 — ﬂﬂEOOW
0o o o__7Em_=o_ﬂWooa z 0 Sol oK S ou 2y ]
= ar I %%Um.&M%mE o g 2= =Y o iRz
i x._lDIA__u ...A._”_un.uul_lﬁﬂlmul <F Uk o0 H 1 M _.u_.“__“_.o M O_ﬂ._n.ruom
1S T S o @ o — — CRHaT xR = oy oy O
1 or KT I o N X =0 O Y T Tof o0
R > m,rﬁuaﬁmﬁmgem
TR RL R I 7 WO T
1 H__._._._ OH_._ - L|L||_
, {o0 ] _|__ I_ﬁl




